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EFRATAI 1s AR A TIF EAX AT THAE PRR NI RE:

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

-rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—-—-r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor —--sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()
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$ python3 prog.py
$ python3 prog.py —--help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python3 prog.py —--verbose
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usage: prog.py [—h]

prog.py: error: unrecognized arguments: —-verbose
$ python3 prog.py foo

usage: prog.py [—h]

prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)
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$ python3 prog.py

usage: prog.py [-h] echo

prog.py: error: the following arguments are required: echo
$ python3 prog.py —--help

usage: prog.py [-h] echo

positional arguments:

echo
options:
-h, —-—help show this help message and exit
$ python3 prog.py foo
foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args()

print (args.echo)
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$ python3 prog.py -h
usage: prog.py [—-h] echo

positional arguments:

echo echo the string you use here
options:
-h, —-—-help show this help message and exit
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'

PEREAKMIH . AR argparse 2ABRA LB EREIIIE A FAFS, BRARITEIFE DXL B
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args()

print (args.square**2)
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$ python3 prog.py 4

16

$ python3 prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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BIEA R AL, FAT—HAERIFOE S ERATE R WA ] e :

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args()
if args.verbosity:
print ("verbosity turned on")
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$ python3 prog.py —--verbosity 1
verbosity turned on

$ python3 prog.py

$ python3 prog.py —--help

usage: prog.py [-h] [--verbosity VERBOSITY]
options:
-h, —-help show this help message and exit

—--verbosity VERBOSITY
increase output verbosity
$ python3 prog.py —--verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —-verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store true™)
args = parser.parse_args ()
if args.verbose:
print ("verbosity turned on")
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$ python3 prog.py —--verbose

verbosity turned on

$ python3 prog.py —--verbose 1

usage: prog.py [—-h] [—--verbose]

pProg.py: error: unrecognized arguments: 1
$ python3 prog.py —--help
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usage: prog.py [-h] [-—-verbose]

options:
-h, —-—-help show this help message and exit
—-—-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("-v", "--verbose", help="increase output verbosity",
action="store true")
args = parser.parse_args()
if args.verbose:
print ("verbosity turned on")

AR ILAE:

$ python3 prog.py -v
verbosity turned on
$ python3 prog.py —--help

usage: prog.py [-h] [-V]

options:
-h, —-help show this help message and exit
-v, —-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbose", action="store_ true",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2
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if args.verbose:

print (f"the square of {args.square}! equals {answer /")

else:

print (answer)
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$ python3 prog
usage: prog.py

prog.py: error:

$ python3 prog
16
$ python3 prog

-PYy

[-h] [-Vv] square

the following arguments are required: square
.py 4

.py 4 —-verbose

the square of 4 equals 16

$ python3 prog

.py ——verbose 4

the square of 4 equals 16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,

help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", type=int,

help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2
if args.verbosity == 2:
print (f"the square of {args.square}! equals {answer /")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer ")
else:

print (answer)

Al i -

$ python3 prog
16

$ python3 prog
usage: prog.py

pProg.py: error:

$ python3 prog
472 == 16
$ python3 prog

.py 4

.py 4 -v

[-h] [-v VERBOSITY] square

argument -v/--verbosity: expected one argument
.py 4 -v 1

.py 4 -v 2

the square of 4 equals 16

$ python3 prog
16

.py 4 -v 3

BTG, B LRI, G2 TR A —A bug. FATAT LA ——verbosity
WO DA Z R ER B R E

import argparse
parser = argparse.ArgumentParser ()




parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square}! equals {answer /")
elif args.verbosity == 1:
print (f" {args.square "2 == {answer /")
else:
print (answer)

Al i -

$ python3 prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python3 prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit

-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity == 2:
print (f"the square of {args.square/ equals {answer}!")
elif args.verbosity == 1:
print (f" {args.square "2 == {answer /")
else:

print (answer)

FATFIAT T3 —FhshfE"count”, SREETIHREE VI B EL

$ python3 prog.py 4

16
$ python3 prog.py 4 -v
472 == 16

$ python3 prog.py 4 -vv
the square of 4 equals 16
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$ python3 prog.py 4 —--verbosity —--verbosity
the square of 4 equals 16

$ python3 prog.py 4 -v 1

usage: prog.py [-h] [-v] square

prog.py: error: unrecognized arguments: 1

$ python3 prog.py 4 -h

usage: prog.py [-h] [-v] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit
-v, ——-verbosity increase output verbosity
$ python3 prog.py 4 -vvv
16

o 2, EBERERAEGRE MR (flaction="store_true" MIfl). XAEMREE MHAM
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args()

answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer /")
elif args.verbosity >= 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

XA

$ python3 prog.py 4 -vvv
the square of 4 equals 16
$ python3 prog.py 4 -vvvv
the square of 4 equals 16
$ python3 prog.py 4
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Traceback (most recent call last):
File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'

o Sl RE, B T ZHI bug. BADZUL, FAIABALAT >=2 BERTREER.
o B =l IR
EFATBIZIRA bug:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args()

answer = args.square**2
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer /")
elif args.verbosity >= 1:
print (f"{args.square "2 == {answer}'")
else:
print (answer)

FATHIMIGIA T X KT default. FAHEEWEN 0 KL E W A HABRR (A B HL A . iCfE,
BOATEOL R AR — A R S HO A B e, ERIHS 2 None, I HEANREFIBEUEM LR (Frl-4 T

TypeError F4).
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$ python3 prog.py 4
16
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x/} to the power {args.y} equals {answer /")
elif args.verbosity >= 1:

print (f"{args.x /" {args.y/ == {answer /")
else:

print (answer)
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$ python3 prog.py

usage: prog.py [-h] [-Vv] x vy

prog.py: error: the following arguments are required: x, y
$ python3 prog.py -h

usage: prog.py [-h] [-Vv] x vy

positional arguments:

b4 the base
y the exponent
options:
-h, --help show this help message and exit
-v, ——-verbosity
$ python3 prog.py 4 2 -v
472 == 16

TR H urA R R — B AN ok # B BRI SCAR . PATR s A A A g Aok R % 04
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:
print (f"Running '{__file__}'")
if args.verbosity >= 1:
print (f"{args.x/"{args.y} == ", end="")

print (answer)

B -

$ python3 prog.py 4 2

16

$ python3 prog.py 4 2 -v
472 == 16

$ python3 prog.py 4 2 -vv
Running 'prog.py'

472 == 16

6.1 FEHIIEIR

BIHA R I, BAT—HAEM argparse. ArgumentParser LB T5IE. IEFRATBNGH =I5k
add_mutually_exclusive_group (). EAWRNIGEM I Lo RATET . LEFATHE e P i HAR
R ABEBE B I RE A R FATIFFIA ——quiet #IT, BEXf5 ——verbose IE4FHI:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_ true")
group.add_argument ("-g", "--quiet", action="store_ true")

(Rt
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parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x/} to the power {args.y} equals {answer /")
else:

print (f"{args.x /" {args.y )/ == {answer /")

FATRE BT 0 1, AT TR R EMG LR T — L Ihfe. JoanfT, il R X rem:

$ python3 prog.py 4 2

472 == 16
$ python3 prog.py 4 2 —qg
16

$ python3 prog.py 4 2 -v

4 to the power 2 equals 16

$ python3 prog.py 4 2 -vgq

usage: prog.py [~h] [-v | -g] x ¥y

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
$ python3 prog.py 4 2 -v —-—quiet

usage: prog.py [-h] [-v | —gq] x ¥y

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store true")
group.add_argument ("-g", "--quiet", action="store_ true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x/} to the power {args.y} equals {answer /")
else:

print (f"{args.x /" {args.y} == {answer /")

R ARE SR P A ER . TR
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$ python3 prog.py —-help
usage: prog.py [-h] [-v | -q] x vy

calculate X to the power of Y
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positional arguments:

X the base
y the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbose
-q, ——quiet
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